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This is the text according to Rashi; ‘this which we said that more than
a sixth the sale is void, it was said only if they did not say, ‘let us divide
with the assessment of a Beis Din’, however if they said, ‘let us divide
with the assessment of a Beis Din’, it is not’ void

Overview

There is a dispute between "1 and NvOIN regarding the X07°) in our X713 and as a
result a dispute in the ruling. According to >"wA the rule that if the 7X11X was more
than a sixth, the sale is void, is limited to cases where the partners did not say, ‘let
our division be performed through a 7"°2’, however if they agreed to divide the estate
with the assessment of 7'"°2 then the rule does not apply.

mooIn explains the meaning of X2 X1°7 27 XMW1 M791 MK 22X (according to *"w):
= 099 1991 9NT INDN) 12 PYNY 129 IR N1 1} XD 29D 0P NPNRN 905

The meaning of 'X?' is that the sale is valid; and according to this 827, when X2
continues by saying 121 2177 21 7107, he is bringing proof to this ruling from

2'"'aw9, who maintains that 239 39272 (in a case where the "7 were mistaken in their Xw).
= 09515 NAYNT 29590 1INI 29 9INT XN NAYY ND X230 KD

And X217 does not agree with this which 1''1 ruled previously that the 75557 is like
the 221, that if ">y mnw 1o, the rule is Hv2a 1707.

moon cites the continuation of the X713 (and the >"wAd):
= 0505V NIN 199N XD ANNIN 9902 NIP MNY J9INRT NN

And that which 1" said that if the XX was a nnw, he acquires the item, but must

return the IX1IR; this was only said by u>wn, but not by ¥p1p,* and *"w1 explains -
= 19WD IND 1Y 10D D919 NIPIN 927 1NN IN THNIY 191 N3P N ANIN 192 29N NNT

Because the law of JINIIR is written by 1"7v%vn, as it says, ‘or you will buy from

! See later (footnote # 8).

2 x,2n (at the very bottom). See later (footnote # 7).

3 The implication is that by ypp if there was nR1X of a mnw the sale is valid and there is no need to return the XX,
however it would seem that if the X1 is greater than a mnw, then ARN1X applies to ¥pp as well. See later (footnote #
5).

4 See 7,73 (7712) X1 which states, PR DY TR 3R 98 700y 78 737 R T00Y7 1307 17370 °3). The implication of 77
MN R Iy is that the prohibition of 1110 %X is only if you acquired it from the hand of qn»y; this limits the rule of
TR to 1°uoun, which are transferred from hand to hand, but it does not apply to vpp.
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the hand of your friend, do not swindle him’; we interpret this rule to apply only
to something which is acquired from hand to hand. This concludes >"vs.

In summation; >"¥" maintains that by 7"°2 nmw the ruling is like 3"2w" and even if the IX1X was
more than a Mnw, nevertheless 2>p 1151, Additionally the rule of XX for a Mnw is only by 70200,
but not by ypIp.

mooin asks
= MYPIPY ANIN PR MNY 22) VPITN NTN 0N 1°39Y NYP)

And the n''9 has a difficulty with >"w79; firstly, since the X723 mentions that there

is no IRNR by ¥PIp regarding a NN (only) -
- SANIIN JNY W MNVUN 1027 YNRYUN

This indicates that by more than a mnw there is IRIR by ypp -
= SANIIN DAY PR INRN ANND MY 1221 19N) 29 P10N (x,np 97’ xa) IAPNN P992)

However 1'"1 concludes in %ap»m 295, if he bought yp7p which was worth one

hundred 171, for two hundred 17 there is no NI (and the sale is valid), even though
the 7X1X was much greater than a mnw!

mooIn has an additional question on (the first part of) *"w"s:
= 1191929 1903 29 XNT NN PO 71903 295 7D X920 XD X297 WI9T AYP NN

And there is an additional difficulty, for °''@w= explained that 829 does not agree
with 1''9, but it is implausible to assume that, since 1''% was the 529 of 829!

mooIN poses another question on *"'wA5:
= 919NY192 EMNYN AN RIPIYN D) DIVIPN WINADT AVUD Ty

And furthermore there is a difficulty for according to >''w=p, initially the text

reads, ‘more than a "\nW’, regarding the ruling of mpn "2 -
=999 MNY 1PN IN MNVY INNAY 123997 DIVT NIVNN NN I5191)

And X217 brings proof from the 71wn of NN 17907 IR NN INADW PIMTT AW, etc. -
= 1357 NN NN MNYN 91%2 HH 19991 XY 1T NIYN XN N3 NN 2591 INNIN)Y

But why does %27 bring proof from this 71wn, since this 712 does not discuss at

all what the rule would be by 7177 oW if the erred in more than a nynw -
- 12)72 YT 1 XY )2 ON)

> See footnote # 3.

6 There is no reason to assume that it was done X727 ¥m1wa (which according to >"w7 would make the sale valid even
if the IR was mnwn ).

7 See (the text by) footnote # 2.

8 See (text by) footnote # 1.

9 X271 was saying that the rule of p»n 902 Mnwn 7N is not applicable if they said X7 *27 Xmwa 1791
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So therefore we are not comparing similar cases!!

In summation; Md01N has three questions on >"w19. A. >"w1 seems to indicate that there is IR1X
ypapa if it is more than a mnw; however 1" ruled there is no AX1KX by ¥Pp up to double the price.
B. >"wn states that 827 disagrees with 1"1 (whether the 7997 is like the 7127 or 3"2w"), which is hard
to accept since 8211 was his student. C. How can X327 prove that by X2°7 °27 X2 2991 there is no
TRIX even more than a Mnw, from the ruling of "aw" which is regarding a Mnw.

moon offers his interpretation and R0
= 13190493 %51 HNIIN 139349 D) 191 12X999N 109X DN 139290 AN 99

Therefore it is the view of the n'' that the text reads the opposite (of >"v1), and

so too is the text by 1''9, and this is how the text reads -
= NI 927 NIMIWA MDD 99X KT NN 199X XD ANIN 9100 N3P MNY 9INRT NN

This which 1"7 ruled that by a mnw he acquires the item, but must return the

FIRIR, that was said only when they did not say X157 527 X»Ww2 Mbp1 -
- 13503 NPNN NI NY NI*T 227 NIV NP9 99N DaN

However if they agreed to X1°7 527 X2, it is not so, and the sale is voided -
= 0220119 DN NI NHYN)

So now X271 brings proof from the 23251 who maintain 502 775% "2 MW NnOW P77 W,
and the same rule applies to X1°7 %27 XMW1 2701,

mooIN continues citing the X713 according to his X071
=910 S¥P9P13 YAN YHVHVNA NIN 1IN KXY NPNN JVI MNYN 99 MNRT N

And that which 1" ruled that if the IX13X was more than a ninw, the sale is
voided, that was said only regarding >»v%u» but (not) by ¥pap, etc.

N190IN continues:
= INNNA NN NIV 12T 929V XN NHVYM

And now that we say regarding yp7p there is no ARIIX even Mnwn NP, the case

10°5'"k27 rule was that if they said X217 °27 Xmwa 21791 then even if the XX was more than a Mnw, the deal is valid. X27
proves it from the fact that 3"2w" maintains that by 1°1»77 0w if there was a discrepancy of a Mnw we say 0p 170n.
That ruling however is if the X1 was a Mnw; how can X271 prove from this that if the 781X was more than a Mnw,
that we still say 0*p 1191n?! See ‘Thinking it over’ # 1.

1 Others amend this to J°0737 (instead of ©737).

12 According to *"wA the first '7nRT X' (regarding 7"°27 Xmw3 N791) was by mnwn n>, and the second '1IPRT X7’
(regarding ¥pp) is by a mnw; however according to NooIN it is the exact opposite; the first is by mnw, and the second
is by mnwn .

13 Others expand the "3 of "M to read M7 M237M (not 13°073 *377). See 1™ X 7"7 R,p MND 'oIn.

14 According to the oom we are more meticulous regarding the 72 (so that if the XX was just a NInw, the rule is
Sv2 170n) than we are regarding ordinary people (where by them an IR of a Mnw the 757 is 2 but ARNKR 1N).
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where he bought ¥>7p valued at a hundred 11, for two hundred 17, it is well

understood the ruling of 1"1 that there is no X)X, which corresponds to what we are saying
here that by yp7p even mnwn 702 there is no ARNN.

n1voIN asks:
= 159191 297 NDIN NPN DIV Y XY MYPIPAT 0N 13929 WIP9Y NIN ¥1IWUNT AYp 10N

However there is a difficulty; for it seems here according to the n''9 w9 that

by ¥pap, according to 1''1 there is no possibility of rpn» s -
= 1IERTDM 29 9N 971 19N 29 N (8,1 97’y xa2) AN PI93)Y

However in 277777 P9p, 1''9 said that R(7)or 29 later said regarding ypp -
- 790Y ¥ NPNR 9V BNY PN ININ

There is no 783X by vp1p, but there is np» 912 by vpap, which seemingly contradicts
the view of the n"-.!8

N1D0IN answers:
- NAYO1 19950 BNNT NPNI 9IVAT UMY Y

And one can say that the np» %12 mentioned there means if the XX was half -
- 20950 HYYYA M0 KY 1991 982 HAN NNIN DAY YW 19D 1Y 19595W1%a NIPN 39 Y91

And this is also brought in the >»%239> 7%n; until half (or more) there is 7NN
by ¥p7p and the sale is void, however if the XX was less than half, there is no

77 9192 and the sale is valid -
= NPYT INNNA ANMD P22t NN XD 2ZRPIT 2D IN 2NNN ANMD AT NIDM)

And regarding that person who purchased a field valued at one hundred for two
hundred, it depends; if the ‘half” mentioned in the 2517 is exact, so he did not
buy 8% for exactly JnR?2 (for then it would be npn 907) -

15 %27 qualified the rule of 1", saying that the rule that by mnwn 1n° it is ipn 910°3, is not applicable to ¥pp; seemingly
indicating there can never be a npn 2102 by ypIp.

16 This is amended to read Xom (not X70M).

17 The rule of ARMX (generally) applies to a mnw (because less than a MW one is 7Mx, more than a MNW is Mpn 7w0°2).
It therefore seems that by a mnw there is no XX (and 2°°p npn), but greater than a Mnw there is 7pn 2102 even by
ypIp.

18 This ruling of 1"7 would also seem to contradict the other ruling of 1"1 regarding JnXn2 73 MW P21 mentioned earlier.
1997 )"0 man>.

20 Let us assume the value of the property is one hundred. If he paid for it more than two hundred so the overpayment
was more than half his payment, therefore there is IR or fpn 21°3, however if he paid less than two hundred, so the
overpayment was less than half of what he paid, the sale is valid. m»oI1n will soon discuss the particulars.

21 1"1 ruled there that there is no XK and the npn is 0P (even though it seems to fit into the 375", where the 22w
says there is npn 20°2/7R1K).

22 When the n5w17° states ARIR 079 W2 395 7V it means precisely up to 329 inclusive, it turns out that buying Jnx»a 83
is included in the 3% 7v, and the sale should be voided.
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= 3R919 JNNNN NN NON

But rather he bought it for slightly less than Jnxm? -
- 25RPYTIND 299 1Y 9INPT KD NPT ININD ON)

And if he purchased it for precisely Jnx?, we will need to say that this which the

MW7 states 275 TV, is not precise -
£ 0P NPNN AT9NM HAR RNYID AVOM 9N 991D 19989 NON

But rather the *n%21 intends to say slightly more than 355, that is when the nipn
is 503, however if the Ix1X was from 392 and less, the sale is valid.

Summary
According to (mo01n understanding of) "wA; by 0°1°77 0W (or R1°7 27 XMW2 21701)

the rule is (according to X27) that if the mistake was even ninwn 701 the sale 1s valid.
There is no Yp7p2 ARIR by a Mnw (but not by mnw»n n1). According to nvoIN by
1170 W (or X7 °27 XMw2 1991) the rule is that by a minw the sale is void (like the
0°nar [both according to X217 and 1"7). By ypap there is no (AR1R, or) mpn 7102 by
mnwn 7N, unless he overpays by (more than) half.

Thinking it over
1. moon asks three questions on *"wA. It would seem that the last question? is the

strongest. However m»ooin asks it last, implying that it is not such a strong question.
How can we explain this??

2. mpon offers two options in reconciling the *»?w17° with the incident of mw 1°2r
1NR72 787 (either the *»n2w° is not exact, or the story is not exact). Seemingly it is
more likely that the story is a mere approximation, than to say the 217, which is
teaching us a rule, should be not precise.?” Why does '01n equate the two options?

23 Let us assume he bought it for 199; he overpaid 99. Half of 199 is 99.5, meaning he overpaid less than half.
24 The meaning 375 7¥ is 9222 7y X1 7V (it is not inclusive of 379). See ‘Thinking it over’ # 2.

25 See footnote # 10.

26 See X"wmn.

7 See footnote # 24.
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